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QUESTION 1

Which of the following about ADSPEC is FALSE?

A. ADSPEC sets an SDP\\'s MTU to the smallest MTU value found along the LSP path.
B. RSVP must be enabled on all MPLS routers of a path to use ADSPEC.

C. ADSPEC can automatically adjust the service MTU.

D. ADSPEC can be enabled on individual LSPs.

Correct Answer: C

QUESTION 2

Which of the following describes 6PE?

A. P routers run IPv4 only. PE routers run IPv4 only and exchange IPv6 routes using MP- BGP.

B. P routers run IPv4 only. PE routers run both IPv4 and IPv6 and exchange IPv6 routes using MP-BGP.
C. P routers run IPv6 only. PE routers run both IPv4 and IPv6 and exchange IPv4 routes using MP-BGP.
D. P routers run IPv6 only. PE routers run IPv6 only and exchange IPv4 routes using MP- BGP.

Correct Answer: B

QUESTION 3

What labels are encapsulated in the tunnels used by a 6PE deployment?

A. The inner label is the IPv4 Explicit Null. The outer label is the MPLS transport label,
B. The inner label is an MPLS transport label. The outer label is the IPv4 Explicit Null.
C. The inner label is the IPv6 Explicit Null. The outer label is an MPLS transport label.
D. The inner label is an MPLS transport label. The outer label is the IPv6 Explicit Null.

Correct Answer: C

QUESTION 4

Which of the following best describes the type of packets used by OSPF routers to exchange updates on a point-to-
point link?

A. IP packets sent to an IP multicast address.
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B. TCP packets sent to an IP multicast address.
C. IP packets sent to an IP unicast address.
D. UDP packets sent to an IP multicast address.

Correct Answer: A

QUESTION 5

Which of the following regarding the location of an MPLS label is FALSE?
A. The MPLS label value may be carried in an ATM header.

B. The MPLS label value may be carried in a shim header.

C. The MPLS label value may be carried in an OSPF header.

D. The MPLS label value may be carried in a Frame Relay header.

Correct Answer: C
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